IMAGE LENA

Re =
start time: 2002 /01 /28 12:05:27 Lshell =
stop time: 2002/01/28 12:11:32 mit =

mlat =

3 spin sum

2.6594 -> 2.5140

3.767 —>

19.3 —=> 19.4hr
21.708 —> 23.034°

3.302

inviat = 58.989 —> 56.611°

All Masses

0.0
O
[
(7]
N
v

c - -0.5
(@]
O
=)
o

-~ -1.0

no counts

]

no data

Version 3.0.0
Mar—10-2005
19:44:26

H 0
270.0 ‘ ‘ h
I [ | I
‘-
180.0— I - . ] — )
o i
r - I '
nl
o
£ 90.0— J. ] ]
3 '
‘ =
|
5
<\
) =
o o
e
!
I
-90.0 I | ‘ |
-48.0 0.0 48.0 -48.0 0.0 48.0 -48.0
degrees degrees

0.0
degrees

48.0



